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. In order for a pure monopolist to earn a pure aco-
nemic profit in short-run equilibrium, marginal rev-

caue must be greater than average variable cost.

. Olier things being equal, tacit coordination of
prices, output, and profits would be most likely in

a rapidly growing industry.

. A monospsonist’s equilibrium wage will he less than

the marginal revenue product of labor.

. If demand for a good is price elastic, it must also

e income elastic.

- X and V' are complementary goods, the demand

curve for X will shift to the right when the price of

3. Indifference curves cross when:

(a) the total utility of the two bundles is equal.

(b) the marginal rates of substitution for two in-

difference curves are equal.
{c} consumers are satiated by a particular good.

(d) none of the above,

If both the marginal cost and the average variable
cost curves are U-shaped, at the point of minimum
marginal cost the average variable cost must be:
{a) at its minimum.

{b) remaining constant.

{c) increasing.

{d) decreasing.

Y goes up. 5. A permanent increase 111 demand for the output nf
a mo[mpohqtirally (,ompetlt.we mdustry will result
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1. A technological breakthrough lowers the cost of

manufacturing razor blades without any change in
their quality.  As part of the transition to a new

equilibrium in the razor blade market, we would

expect to find a (an):

()
(1)
(e)

shortage of razor blades.
rightward shift, jn Lhe demand for razor blades.

downwartd shift in the supply curve for razor

blades.
(d)

upward movement along the demand curve for

razor blades.

2. If the equilibrinmn price set by the normal interac-

tion of supply and demand is lower than the price

ceiling set by the government, the resnlt wonld be:

{a) a surplus

{b} a shortage.
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librium?

(a) A higher price, with no increase in output,
(b) Fewer firms in the market.
(c) 'Higher pure economic profit for each firm.

{d) More firms in the market.
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An entreprencur plans for a one-machine horizon,
He purchases the machine for 500 dollars. Ita scrap
value al time T js S{T) = 500 — 40T, The rate
of interest is 0.05. The machine yields a quasi-rent
flow at the rale Z, == 85— 41 dollars per year. When
should the entrepreneur retire this machine?

Consider a market charseterized by monopolistic
competition. There are 101 firms with identical de-

mand and cost functions:

101
(r} quantity demanded equal to quantity supplied. pi = 1580~ g —0.02 ) Z#k 0
=131
(d) rationing. cx = 0.5¢F —20g8 + 270¢x, k= 1,... 101
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Deterinine the maximum profit and the correspond-
ing price and quantity for a representative firm. As-
sume that the number of irms in the industry does

not change.
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1.

3.

4.

How cdoes the level of aggregate output affoct the
rate of inflation? What relationship do you expect
between the level of aggregate output and the rate
of inflation? Does your expectation confirm the sit-
uations observed in the Asian Crisis? Why? (15%)

What are the economics challenges that confront us
these days? Provide some insight to find some way
out. {15%)

What is the paradox of thrift? Explain the reasons

why it is callllec-l 2 paradox? (10%)

:Explain the theory of rational expectations. (10%)
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